£ TOURATECH [ -*:

TOURING RALLYE RACING TECHNOLOGY \Zm*™™”

09-040-0664-1 Installation Instructions
09-040-0665-1

Contains:

4 x Special Screws

2 x Triangular bar holding bracket
1 x 4 inch round bar

2 x Screw dome head Méx12

4 x Screw hex M5x10

2 x Washer M6

4 x Washer M5

Cable ties

Installation:

Loosen the handlebar clamp screws and replace
them with the supplied Touratech special screws.

It is recommended to screw the bolts in all the way
by hand (with upper clamp portion removed). Also
recommended to use anti-seize on threads. Anti-
sieze is a messy gray thread lubricant, you will know
it if it is there. Sometimes the BMW shop has
already used anti-seize.

Tighten the handlebar clamps and install the
friangular bar holding brackets with the M5x10 hex
screws and washers M5.

You can choose to install the brackets so that the
bar will either be front or back.

Install the bar with the Méx12 screws and washers
to the friangular bar brackets. Zip ties can be used
if the throftle cable rubs against the right bracket.
Now you can install Touratech GPS mount on the
ar.

These instructions are at our current level of knowledge. Legal requirements do not exist. Technical issues subject to change.



